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1. HAIW 7834002 d UE])
SR S = o] &S5 ]2~ H|7]
okl g A 5mx14m 13/19 70,0009 60,0009 50,0009
o ured ol g A 5mx8m 13/19 40,000 35,0009 25,0009
=T ol g A 4m*8m 13/149 40,000 35,0009 25,0009
S 4m>4m 13)/14 35,0009 30,0009 25,0009
2. #UstAIZ(NsH dste])
o E:R=S H|<7]
S S EIEl 3m*6m 13)/149 40,0009 35,0009 25,0009
SEHH 491/14 150,000¢ | 150,0009 | 100,000¢
SFEHD 491/14 120,0009 | 120,0009 | 80,0009
TG4 =3 491/1% 120,0009 | 120,000¢ | 80,000¢
524 491/1%4 80,0009 80,000¢) 50,0009
=Yg E 491/14 60,0009 60,0009 40,0009
N Q.
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SR A = °l&& ]2~ H|7|
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ord g3 3mx3m 13)/14 30,0009 30,0009 25,0009
QEMS QENIA} 17A&/19 | 40,0009 35,0009 25,0009
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e Fepdkatol E 174/14 | 50,0009 40,0009 25,0009
= A A 7R 3}-9-2~ 491/14 140,0009 | 120,000¢ | 80,000¢
al
o Ey 491/14 | 120,000¢ | 100,0009 | 70,0009
3 A A ol &E ATVE
A4 4 E A o] g2} duka}gk 1tH %Wl 5,000
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